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53. If 5is the zero of the polynomial i s 5% ﬁ‘fﬁ:ﬁ%
f{xaﬂfnﬂan}x-ﬁmﬂﬂf‘““ i T 4
A 3 B 5 A 3 & ®
©) 0 D) -35 () 0 i -
54, Dehatifair s held at 54, ETAl Hedl & ST Erer @ |
(A) Karnal (B) Kaithal (A) FEATH (B) FUd
(C) Fardebad (D) Panchakula (C) WrETeTE (D) Y=Fe
55. Which of the following move EI=IGIER : .
British Ra] was shqkar? to its fﬁfﬁéﬁ’ﬂéﬁ <o ; _ 7 g g e | 1857 & TYH
for the first time since 1857 first war of LERERIR Do 9% Yge! IR fafes o=
independence ? 12 9= ﬁﬁ"Tﬁ off 7
(A) Swadeshi M e ae ‘
rB: H:ri:; ulla f::;ﬂ n:.q &)
- ue Movement .
(C) Rowlatt Satyagraha (8) ?’qﬁﬁ?ﬂ'ﬂ ”‘;'IE“
(D) Nen-Cooperation Movement ©) W“Eﬂﬂrma
| (D) e stidermy
56. Find the Word which s different fro
other 3 op ons given below. m the 56. TR I 'ﬂTﬂﬁ d"[ 53 ﬁq
: L T&ed] O
(A) Carrot T B) Potato ﬂﬁﬁﬁﬁ%l GICAGE T
T i
(C) Tomato ©) Beetroot (A) TITsT ® -
(C) Zumex
(D) TFe
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g correct meaning of the underlined idiom
gjuan options.

@ speaker of the Lok Sabha stirred yp

homet's nest by referring to the impending

changes in several rules.
'(A) make an untrue story
(B) raise controversy

(C) confused himself

(D) perform a difficult task

'You cannot befool me, as | was not born
(A) weak

(B) worldly wise

:’-' unable to understand

; give false hope
the blanks with suitable articles wherever

Ram gave me one rupee note.
(A) Not needed

(B) The

(C) An

D) A

Jois honour to his profession.

A) The
) A

) Not needed

E—“ﬂ“ﬁh Lﬂngum
Fill in mbi&ﬂ“ wl

4/2018 (1) (M18)

could have been delayed by the

—= =

“They

M‘ "I"HE. thay T
(A) could have

(B) nauld be

(C) could been
(D) couldn't have beer:

nWandiadearly i
(B) Intended to be

(D) Intend to be

73,

The report is very
(A) Intended to
(C) Intended

74,

Pick out the wrongly spelt word from the given
words.

Villaineous
Transience
Grievance
Receive

(A)
(B)
(C)
(D)

75.

Etiquette
Llautanant
Solliloquy
Bureaucracy

76. (A)
(B)
(C)
(D)

]

Fill in the blanks with suitable forms of verbs.

77. We ___(read) since 2 O'clock.
(A) reads P
(B) was reading

(C) have been rea
(D) has been mc::g

78.

He wil unloeleﬁ'na""' '

13-
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nanufacture of |

m; 1739

ich was recently
Dollar public listed
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~ o o) S, T T
(C) qﬁﬂﬁ gﬁ'ﬁm (B) ’Imﬁiﬁq'[‘a-ﬂ'mw
80 Eﬁwa‘mﬂﬂﬁm%? rfaaTE® 891, Eﬁq“ﬁ?
o, T O S & BT
(A) ?ﬁq D) T -H'sr[' ﬁ‘ﬁ%ﬂa aﬁ
(©) e : | (D) TSR S8 fen o ol ©
o1, oo i a0 s TR, b,
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(B) Fiftvaare! (A) T (B) i
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S. S T 40 88. I’ Y62 % WY H\—H1 ITET el T & 7
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(B) 1-; 2_3 3-% 4-a7 C) = (D) &
(G) TSNS 1 SN 4 - 3 89. ‘3@ AW EMT
D) 1-F 2-3 3-31 4-% 2 ﬁﬂﬂﬂ%
83. It ¥7e2 1 aga=H (B) U TEL T @A
(A) et -\ (C) Y &=
(8) wifeai (D) ie 3w
(C) Hidn
(D) MIA ? | T8 I e
84. mJ -ﬁTM=m(m}ﬁ (A) BT e R
1 J;T%? (B) HTH'I?{'CEE[M
(A) 93 (B)
(©) = v [u}'?gﬁ (C) w3 e
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.. reacts with moist
Gopper reacts WM Tl

districts of

|, Approximately one CUSEC water is equal to

12 J July was Monday, then 26" July of the
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carbon dioxide in

the air to form green

(A) Copper oxide
(B) Copper carbonate

(C) Copper chloride
(D) Copper carbide

Area of the circle inscribed In & square of
side 1 cm IS

n o]
(A) Ecm* (B) 4Gm’
(C) wcm? (D) 2rom’

The Shivalik Hills are not found in the

(A) Ambala

(B) Panchakula
(C) Sirsa

(D) Yamunanagar

(A) 28.317 litre/second
@) 28.317 lire/minute
(C) 28.317 litre/hour

(D) 28.317 litre/10 second

AW

same year was
(A) Wednesday
(C) Thursday

(B) Tuesday
(D) Monday

__ s the first governor of Haryana.
(A) Shri B. N. Chakraborty
X Shri Dharma Vira
C) ShriR. S. Narula

4/2018 (1) (M18)
¥ Wiy 9 o
Frad BIR7 r
8. wmﬂﬁﬁﬂ AT |
(A) iy SRS
@) F A
. (€ o AATES
| (D) FwEFEE
. 1%#@3‘*‘?1’-’1%@%
k 2
w zo Lk
(€) mem (D) 2mom
10. ﬂmﬁﬂ?___.r—-ﬁﬁﬁ‘a“
g S e |
(A) FFEE
(B) THETE
(c) fea -
(D) IFTHR
1% 1'&@$ﬂaw_ﬁ%méﬁm%|

(A 28.317 e/
(B) 28,317 eftex/ e

D) ShriG. D. Tapase
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5. Find the missing number (S
H’[ 13[ Zﬂ, ?.. 4”', 53 .
©) 29

— o
e

Arjuna with the grace of lo rd Shi
(B) Asvarishta

(A) Agneyastre IR
(C) Pashupatastra (D) Mrita Sanjivini

4. The distance between the points (8
‘and (-a. - b) are

ot L Bt

AUray

T
o

the year '
(A) 1973
(C) 1979

7. The SUM of two dinis _
the digits is 154, f e g 9.1
number is 2 " : Is ¢
{A] 95 or .'I '
(B) 51 or . |
(C) 260r62
(D) None of the

. UTEAl I/ R, FHEH JE H AN

. TEHIEITE

(A) a1 i 3w e i wff
(B) e & i a1 fafsE
(©) e i SR SR
(D) G{Haﬁaﬂ'{ﬂﬁ?ﬁlﬁﬁﬁﬁm

. 4@ 8, 18, 20, 7. 40, 53 H v WEAT 1

i |
(A) 25 (B) 27
(C) 29 (D) 31

(C) HrEHdrEA

. fig(a,-b) M (-a -b)FAaH2

(A) V2a (B) 0
(C) a (D) ~/2(a+Db)

$ AT TR |

(A) dTed (B) ud
(C) =ra (D) aTH

6. &fmm % Enig e ad § & |

(A) 1973 (B) 1966

(C) 1979 (D) 1995

. & 31 3] H T 3N HAH ) FH a5

| T W1 T A 154 2 | AT 37 7 3w
4%, T T R
(A) 95 or59

(B) 51o0r.15
(C) 26 or 62

(D) T & F1E 9
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‘The 38" parallel north frequently in news,

tis a
(A} Border line between North Korea and

(A
Russia
B) Border line betweern MNo

~ South Korea

(C) Military exercis

~ and USA

D) Military exercise betwee
North Korea

rth Korea and

e between South Korea

n Russia and

he highest point of Morni Hills is known as
- (B) Garoh Peak

~ Karoh Peak

5) Tosa Peak (D) Grasher Peak

11-

(L 4/2018 (1) (M18)
r Maha od o fam
. | is located at 57. wm-____——-"‘—- ﬁ“'”
i (B) Hisar - (B)
{C) Ambala (D) Panipath g el (&) S
* jn which part of Himala s do we f & miﬂﬁﬂ“*ﬁmﬁ
b unique type of so | % mmm aqran 1 7
(A} North-eastern Himalayas (A) :ﬁ'{—‘{,ﬂw
(B) Eastern Himalayas {i{ femre™
() Himachal-Uttarakhand Himalayas ::-; W-ﬁnﬂw
(D) Kashmir Himalayas ©) ﬂ,ﬂ{fgﬂmﬂ
The values of x and y satistying the giftaTl 6(ax + by) =3a +2b ﬁﬂ
- HE[E.H-I-hF]:SE-i—Eh and o &{m_ﬂf’;gﬂh—zﬂﬁmm’fm
ﬂbx—EF]=3b-Eaara 2 a'?'m:[t
_1 =X y" = _1. ! : 1
2, 3 . =%V S
(B) I_E'?za (B) xﬂ%.-b“‘a
(C) x=2,y=3 (C) 1,2.5"53 |
(D) None of these ) ‘ﬁﬁﬂqﬂ '. “
'Normally, in a healthy adult, the initial filterate | 60 AT T Sl mﬁ‘ﬁ, g S
in the kidney is about ______ litre/day. froie iﬂa[ﬂ_ﬁlﬁﬁ‘ﬁi‘&mﬂﬂ g e |
(A) 60 (B) 120 (A) 60 {B‘J 120
(C) 180 (D) 90 (C) 180 (D) 90

TR
() 3t i s e el wn T

() 3t s S R e 3 e

kec|l
(©) e SR A il 1 T
(D) * ﬂﬁﬁﬁﬁ?%aﬁﬁ By ST

FEARl
(A) TR (B) TEAD
€ @A
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63.

64.

65.

66.

67.

68.
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Find the mi
for 7, NPS, wYB,

(A) EGJ

(C) CEH -
age in
Cash reward for inter casté marriagd

Haryana IS
(A) Rs.10,000

(C) Rs.75,000

(B) Hs. Eg,ﬂﬂﬂ
(D} HE.'LWIGUD

“There can be no spirit of self-government

about us, if we take away of alluW-_pthers
1o take from the peasants almost thewhole
~f the results of their labour. Our ﬁalvam:rn
can only come through the farmer. Nenher
the lawyers, nor the doctors, nor the rich
landlords are going to secure it". The
famous quote is uttered by

(A) Bhagath Singh
(B} Chandrashekhar Azad

(C) M. K. Gandhi
(D) None of the above

Which of the following form an AP ?
(A) 1, 1,
(B) 0.3, 0.33,0.333, ...

(C) v2,2,2\2,4,.,
(D) 9.9+J§.9+2J§,9+3J§.

Haryana government in the year 2015
declared that it will develop 1

as the smart city,
(A) Gurgaon
(C) Panipath

= lobe

(B) Ambala
(D) Thari

Which of the following countries does not

O AR

F foe = Haw
2, NPS, WYE! FHK, OO
; (:r')'ilﬁ":tl (B) DFJ
s Z(; (D) GIK
(C)
ﬁa’rﬁiﬁmqﬁ"r
. gﬂﬂwﬁmﬁﬂﬂ
; : 0,000
5. 10,000 (B) %90
:2: 15* ?5:000 (D) ¥ 1,00,000
] 7 ) FRaET 8 3
. =9 91 A
§ fﬁ?ﬂﬂﬁﬁﬂﬁﬁﬁﬁﬁ,?ﬁgmﬁmq

66. Frerferiian # & H w wHiAT Aft T 7
(A) 1,1,2,2,3,3,..
(B) 0.3,0.33, 0.333, ...

(C) V2,2, 242,4 ...
(D) 9.9+V3,9+23,9+3.3, ..

touch MEditErrangan shore ?
(A) ‘Greece 8) Spain
(C) Turkey (D) Gﬂﬂﬂany

67. E|mlul|m%aﬁ2015ﬁﬂiﬁﬁam
#

Eh ! TR ¥ v i R
(A) T 5
(©) e :E; amh

68. =gy
(A) g
) =f% E[E}; %

-12-
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4/2018 (1) (M18) f the. er of | 38. £ o N
38. The date of glection oY " ‘{mw .
| oksabha Is fixed oY A) - ﬂﬂ?ﬂﬂ"—{ )
' =gadl HFAA
(A) Speaker Pro team ) . |
8) Rajyasabha Chairman B8 * et 35 7
% amentary Affairs (C) & { -
(C) Minister for Pariiam , o) I P
(D) None of the above i
I =3 3T kx +5y =3
waBy =3 | 30. wHERCON 5X + Ky
39. thheaquaﬁanaﬁmky:sﬂndm#ﬁ? il £k =
represent the same line then k= ZaTel
(A) 1 (A) 1
(B) 5
B) §
{[c;} 3 t (C) 3 =
(D) None of these (D) Fﬁﬁiﬁfﬁ
40. Ranijit sagar dam is constructed on which |  40. g ety R A AT R 7
of the following rivers ?
(A) Ravi (B) Sutlej (A) Tt (B) qZAd
(C) Beas (D) Chenab (C) =™ (D) =T

41. If 2cosec® 30° + xsin?60° - -E-:-tan* 30° =10 41. T2 2cosec? 30° + xsin260° — a tan?

then value of x is 30°=10Tt x I O &

(A) 1 (B) 2 (A) 1 (B) 2
) 3 (D) 4 (©) 3 (D) 4
42. Tiriya ke Masmoom is written b et v
(A) Abtaf Hussain Haalin iy o T SRR |
o (A) STeaTh §8T BTelt
(C) Umrao Jan )
(D) Allabaksh :E’; i
HeeTa ST
43. Who among the followin
g Is known for th 43. F—hq%f@-a
famous quote, “an uncontrolled pen ma: ﬁﬂmﬁqgﬁzam, T AF
but to destroy” ? ' Wwaﬂﬁﬁﬂmmt"%%ﬂm
(A) Leo Tolstoy by 7
(B) John Ruskin (A) T et
(B) ¥ ey

(C) Mahatma Gandhi
(D) Swami Vivekananda




https://haryanajobs.in

llﬂllll
-~ walks 1 m oW towards g East and turns
W
ﬁght and walhsa
walks 4 km. Finally
How far is he trom the

H.g ag.nlnlun‘ls left and

5. IfP(E)= 0.45 then probability of ‘not E I8
(A) 0.6 (B) 0.55
(C) 05 (D) 1

Three cubes each of side 1 cm are iDIﬂEd

= end to end, the surface area of the resulting
solid is
(A) 7om (B) 14 cm?
(C) 3cm’ (D) B8cm?

district is famous for light

—

engineering goods industry.
(A) Ambala (B) Rewarl
(C) Faridabad (D) Gurgaon

Match the following :

|. Jai Jawan Jai 1. Lal Bahadur
Kisan Shastri

Il. Jai Jawan Jai o Atal Bihari
Kisan Jai Vigyan  Vajapayee

Act East Policy 3. P. V. Narasimha
Rao

IV. Look East policy 4. Narendra Modi
Select the right code .

(A) 1-111-2 n-31iv-4
B) 1-111-21-41V-3
€) I-2 -1 M=-31IV-4
D) 1-2 -1 1I-4 V-3

L]
llli‘

Complete the analogy.
Video : Cassette : : Computer : ?
(A) Reels (B) Floppy

Mo g gera ® 3 et
| "".::x{i g3 @t HEa 4 T,
St
e g
f!'li e (B) 13 ferddh,
(A 2': ﬁf‘ﬂ' (D) ¥ & Ft 7
h.l.r‘p) 1 '
B oiE) = 04571 E S
45. TEFEG (B) 0-55
(A . 1
) 05 =
: e - EPH & 914
A - (B) 14 cm*®
(©) 3om i e
J H_ﬁmﬁziﬂﬁ“ﬁ" 1 g, 3T &
Al
(A) FT o
() TS @) I=T

- forem v fam
I, A FA R A 3. . =, T T
v, B AR @A 4. Tz A
ae Fe T\ ¢
(A) I=1 1-2 -3 V-4
(B) 1-1 =2 1l-41V-3
(C) I=2M=1 m-3 V-4
©) 1-2 =1 -4 1v-3

49,

(C) Recordings (D) Files
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4/2018 (1) (M18)
o 00T o B R
§ -“m:idE&ﬂfrEEi‘dUﬂW pc.warEWi‘th the center 31 WW .&;ﬂﬁqﬂﬁﬁmﬂm [
10 indian GDF_'IEﬁtUﬁﬂn was borrowed from 3 m-ﬁﬂ!{ = {E} FATE]
::? C;T::::tmn o (B) Canada
(C) Australia (D) UK
~» Which among the districts in Haryana has
highest population density ?
(A) Gurgaon (B) Panipat
(C) Faridabad (D) Sirsa
| TEST is coded as ‘64’ then ‘EXAM'is | - 53 aft TEST F T
coded as .
) 4 g (B) 43
o R () 84 (D) 44
(C) 45 (D) 44 (C) 45 ol
weie dehs 50 J I
24. 50 J of heat is produced each second in 34. ﬁﬁnWﬁ b 2
"~ 45 Q resistance. The potential difference A@e | gfeieeh favardt
across the resistor is (B) 40 V
A) 50V
(A) 50 V (B) 40V ( =" A
(C) 5V10V (D) 105 V () 510V (D)
- 10 T,
% In A ABC, AB =2./5cm, AC = 10.cm, 35. A mcﬁj_ﬁgggg ?‘ﬁs AC =10
BC = 4.5 cmthen B is BC =445 -
(A) 120° (B) 60° (A) 120 (B) 3
(C) 90° (D) 45° (C) 90° (D) 45
|
8, In which of the following states the saddle | 36 ﬁnﬁ!@ﬂﬁ_ﬁwmﬁm&ﬂ a7
peak is situated ? (A) ofvem e
(A) West Bengal (B) 3FEHH A S
(B) Andaman and Nicobar
(C) Goa (C) T
(D) Coconut Island (D) AT g9 T
| . Thari Pension Thare Pass Scheme introduced | 37. Tl 9¥F 9R 9T® FSAT 2015 F AT,
. ﬂur[ng 2015, with a view to gnsure gﬁﬁﬁam{ﬁ'&; %Qiﬁﬁ i
{ﬁ} Transparency in pensions () T
(B) Transparency in government resuls Tef3fer
(C) Transparency in supply of cooking gas (B) I qiwmmsi | ‘IITEﬁ‘fHTE
(D) Transparency in social security (C) "= areht g 1 agfd d awefifan
(D) Fvniores e S # wreafytan

pensions
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3

(DO 0 R

(C) Rainfall - (0) FEIAH s

I
i -]] - H]:S = fir -
qTE e < yfy AW H
:.. Id is als 15- : . -_-?m'.@ 3{\
" Land of Righteousness gl

(C) Medite .
(D) Tropical eV
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Jahan ? oban O
(A) Nadif2cip (M
[G} wlal :,“'.I TR

26. Find the n¥ . @0
3 numbetss
(A) 29
() 39

27. HUHMM
(A)
(B)
(C)
(D)

ok

Whic
astabll
Decear

(A) #
(B)
(C) G
(D) G

28.

......

4/3%2 4 =
(A) VB,

3
©) ‘;—_ .

30. The second battla
between Hemu ang

(A) Aurangzeb

(B) Nadir Shah
(C) Akbar
(D) Timur

O A OO A R
25, e STESTEl a1 e e e !
(A) AT ITE (B)
(C) 37&HE TME (D) 379 3Tl
26. maﬁﬂﬁiﬁ@ﬂmﬂaﬁl
(A) 29 (B) 31
(C) 39 (D) 41

27. HUHM #1374 2

28. T AFATIT aehals T Fisi] =h! TATIHA]

29. THF 43x% +5x-2J3 =0 FEA &

-2 -

(A) Jﬁ.ﬁ (B) }?'Ti
J3 =4

© 27 (D) V3,42

30. mm@n%ﬁm
[SEIRID I

(A) o
(B) et wire
(C) ¥Fa

(D)

33.

34





